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T F 4 | FbEBaE R 6 laE raEmis TS
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FPEKEE Y A1 15, 409, 996
FHEK T = 14, 546, 924 | REUGHETT S HBEKE 572 383 m
383 m
BT EV 40, 184 | FHkKE 2 m
2 m
HAKET L K| 1 822,888 |#E/KET 8 T
8 T
AfE T EVI 794, 448, 770
RLIR B AR T EV 51,561 | FJmiki 42 il
42 ot
AV har s Y — MEEERT K1 210,525 |z 2 U — MR 25 ot
a7 U — MR 25 ot
F—R—1L AT EV 80,012,804 |A— "—L A T 32,111 il
t=10cn 26, 187 nf it 5,924 ot
YA — "— LA T K1 589,015, 113 |GIHIA— "—1L A T 89, 129 ot
t=4cn 16, 805 ot t=10cn 72, 324 ot
A 776 m3
A (K) 1, 287 m 3
A (Y) 273 m 3
A (R) 21 m 3
AR (Y) 28 m 3
A (t=4cm) (K) 722 nt
A (t=4m) (KZ) (Y) 529 nt
B (t=10cm) (K) 1,919 nt
B (t=10cm) (KZ) (Y) 705 nt
LRy 7T EVIIE 93,882,289 |7 A7 7 )L NEZENERIR G 5, 609 t
5, 609 t
PRIRBAZK T K1 31,276,478 |FERIBAAK T 2,327 ot
Z DAt 348 nt B1 1, 005 ot
B2 974 ot
A (Y) 1 T
B (Y) 5 m
T 17K T 452 m
FEgemEs Ak T (R) 100 m
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EERMEFETA (Y) 3,577 m
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A (K) 70 pae
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HAPEKED s —u ™ (G) —0. 24 -0. 24 (K) 5 m
FAPEAED s —Pu " —0. 24 -0. 24 (K) 75 m
#AhkEITDc —St (Sw) ¢0. 30 (K) 2 T
TATZ 7 MEAAs —C (K) 156 m
a7 U— MEA 414 m
a7 U—hMEA (Y) 61 m
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ary7Y—hMgaPCC—B (K) 227 m
BHE#EMG r —A—E (K) 156 m
A —uyxrr7ayvs (K) 1,072 nt
RO EA 1T (K) 7 e
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1,151 A-H
AR 2 B 340 A H
340 A-H
B T &t EVIT 1,010, 055, 196
Ik T2 A |1 37, 528, 920
MET % K |1 37,528,920 |57 A7 7V MAMEORY R H 1 =
HaTa 7 ERRE 1 v
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EETHEE F K |1 1,047,584, 116
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Bl E By K |1 226, 795, 000
M THEE § K |1 420, 086, 738
i K |1 1, 467, 670, 854
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